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gobobda,bbogdbgbbuooobobbuooobobooobbooboa
gobboogsgbobboo.goboua,obboooobbooobobbod
gogbbbooogobobuoggobob.ogoobbodg 211000ooood
ggbobo,gbbbuooogbbbuoooobbobooan.

22 0O0OO0OOOOO

gbbooboogbbodgbooobog,ugbbodboobobuoobobo
gogobbbbodooooobobbobbo. oobbbbbd,z—2z000000
gogobobb.ybbboooooobbbuogoooboob,ooobobobobood
guobodgbbodoboboo. goboo,bboog,uggboboo,buooobod
ggboobuogobboboooo.

du op

— tat- =0

dt+&8x
d 0
d—w+aa—p+g:0

t z (2.2.1)
a@—l— d—a—O

at “Par T

wv.v -9y

dt

000,y=¢/c,000. 00,0000V = (uw,w), V= (8/dx,0/0z) 000
000000000,
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oot ootoootooooooooonoobooo. oooboooo
O, 0ugooooo UDDDDDDDDDDDDDDDDDDDp(z),@DDD
goo.ouon,
9p

O[a—— g
V4
000000.00,0000000000000)00000ogooogogo

g.gboodg,bboggoboogbobobogobbuooobboooboboo

oad.
u:U—Fu,, w=w
, , (2.2.2)
p=p(2)+p, a=a(z)+a
0(221)000,0000000000000000QO00O0O (22)0000,000
00ooOo0oooobooooo. oboo,00b000goo 2000000000

goo.

ow' ow’ _dp  a
(51 (E—FU@—J;) +O[__Tg—

@ 8_p+U8_p — qw + Py 3_@+U8_a+w,8_d =0
ot ox

ou  ow'\ _ oo’ da’ ,0a
(%*E)Q_‘SQ (E*U%) —wg, =0

(2.2.3)

ooo,sn,0d000000OD0O0O0ODO,0D000D000D0O0ODOODOODO
gboobgobobbob,1bogobobboboobg.

main.tex 2011/08/13(00 OO)



gbboboogobbodood 32

23 O0OO0OOO0

000,9g=0,6=6=10000,a pj000000000000000
gdjddddddddddoo.bbb,ddddoobbobLbooooo
r,y,t 000 0OD0O0O0O0O0O0O0O0O0OO0O0O.
u =S explilkz +mz—ot)], w =W expli(kz +mz — ot)] 534
p =P explilke + mz —ot)], o = A expli(ks +mz — ot)] (2.34)
ooob, 0000000000 k,bm, 0000 c0D00O0O0O0O0OOODOOO
dddoodd. oo oooonobooboooo. ooo
(223)00000000,00000000000DOO00O0OOOODODOOOO
00.000,0000000000000000000000. (2.3.4)0 (2.2.3)
ooooogo,oo s,w,pA000OD00O0ODOO0ODOO0ODOO0DOO

(kU — o) 0 ak 0 S
0 (kU—0) am 0 W
=0 2.3.5
0 0 a(kU—o) py (kU—-0o)| | P ( )
ak am 0 — (kU=-0)| |A

ooo.oos,w,pA000O00ODOCO0,000000C00DODOODOOOO
gobgbooboboob.oboobobobooboobooboboobobo.

a(kU — 0)? [=(kU — 0)* + ypa(k*> + m*)] =0 (2.3.6)
4000000000004000.000 200,
o ==xkU
000,000000000000.000200,
o = kU + (k% + m?)"/>\/yRT

gogd. obbo,bbbbbbougooooobobb. bbboddg,dd «d
gobooboovboboboobooobooboobg.

O00000,00000000 (kxr+mz=constant) 100 000. 00000
gogbbbuoooobboooan.

c=o0)\2m

oboo,x0obooboobgoob0. boboobooboobooDboo
0000 X\, =27/k, A, =2r/mI00000000OCO, 000000 )=
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guoodoooooobboood
or(k2+m?) /2000000000 00 ADDODODODODO00O, 00
c=o(k?+m?)~1/? (2.3.7)

gog
0000.000,U=00000 (23)00000000000.

c=+\/RT

(2.3.8)

00000000 0ooooooooooO. 0000o0ooooooooooD (OO

0)0000000ooooDo.

24 0O00O0O0O0OOO

gbbda,buogboboobboobbuoobuooboobobuoobboboo
gobobooobb.ogobbooobbooo,bogobbooobboo

-9

vl
|

0=-a

pa = RT

0000000000000 000000000000000.000000
(2.4.9)

00,0000000000

p(z) = p(0)e ", a(z) = a(0)e” "
D00.000,H=RI/¢g00000000000. 000002000000
00 U00000000000000,00000=0000.0000000

lJ00000000000000000,000000 k000 (k,m)0000,
k| = (k% +m?)'/?

ooooo.
0oo0ooooo (\,,\,)0000,000000000

OD00000,000000000000000000000000000. 000000 A0
A =21/(\2 + \?)

000.000000000000000000000000.
2011/08/13(00 OO)
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000 (2.2.3)0,
ou _0p 0
- oa— =
ot or
ow’ ap  d
"o T Tl
or 7Y TP o 0z
ou' n ow'\ _ 5 da’ yolel 0
dr = 0z 2ot 0z
Oo00. 00000000000 0000o000o0o000ooogoan.
u/ _ Sd1/2 ei(l»car:—i—mz—ot)7 w/ _ WO_él/2 ei(kx—i-mz—ot)
p’ _ So—é71/2 ei(karmzfcrt)’ a’ _ WO_é3/2 6i(kx+mzfot) (2411)
0000 (24.10)00000000,000000000O
[—o 0 k 0 ]
94
0 —d10 m+i—a g S
RT & 2002 Yo (2.4.12)
0 <—g+L—a)i —0 YRTo| | P| o
a 0z
k + i da 0 0 4
m+ —— o
L 200 0z >

000.000,000000000000000DOO0OO0OODOOO0. (2.4.9)
gogbobobuoooobbboooobbbuoooob,ugoooboboboood.

A RT(5K2 +m2) + —T-[(265 — 1)y + 2(1 —

+g(1—7)(52—1)2'771}024—/{292(7—1):O
DDDDDDD27T/mD47THDDDDDDDD,UZDDDDDDgDDD’yRTm2
oo, oo b ooooobogooog
O.o0uououououououog,
g@é_

m@&—yﬁﬂmﬁ+m%&+qRTw2m%_o (2.4.14)

goo.

000000 400,0002000000002000000.0000¢=0
000D000D00000,000000000000000. 0000000
000000D00,6=0000)06 =1000000.000000000
0ooo i

;2999

o’ = #&ang (2.4.15)
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ggb.bboogobbbooooboboobod,

o k g 00 12
T e (55—) (24.16)

gogbo.ob,boggoobbobooooobobooooobo.obobood
000000000000000 (08/0->0)00,0000000000000
0.00,000000000000000OODODODOO (00j0z<0)00,00
gogoobobodogd.

0000000000000000000 (2>m?) 000, (24.15)0

_ (900
o~ =+ (9(92) (2.4.17)

O0000.000,0000000000000000000-00000 (Brunt-
Vaisdla) DO 0O000O. O0,000000000000000000O0DOO0OO
O00000oO00oooooooo, (2414900000 =000000. 000
u,goboodgoad ) -

, k®g00

o =200 (2.4.18)
000.00000,m?*>k000 (2415 000000. 000000000
gboooboooboboob,oboobbomU0 —mmobOoobDOODDOO

gogbbobugobobbooooboobogo.

ez(kac—i-mz—ot) + ez(kzz—mz—at) kx—ot)

— 2cosmz el

oo, dddesbbobouddudmbbbbboooooooogg. g
ggbbbugoobboooooobooo,bbooogn

o 1 (g00 12
_o_ 1 (909 2.4.19

Tk m(@@z) ( )
go0. o0, k0000d0b0bb0ooooboboboooooobboooon
ogd.

gbbogboogbbodbooobuoobbooboob,opbuoobobo
0000000000000 000000. (2414 00000000,0000
000 (6,=000000000 (,=0000000000,00000000
gobb.ooobbda,bobbuoubbuoobbboooobbuooobboo
O000.0000 (2411)0000000000 A/200000000000,0
gobbuooobbuoodobbuoodobbooobbooobboba.oo,od
ggboobooggoobooooooobo.
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0000 (223) 000000000 (2411)0000000000O0O0OOOO
gogboob.bbodggoobobooooo,bbuoooobooboobog. gd
000,0000000 (223)0000000000000000000.

’

— Se(’y—l)z/'yHeik(a:—ct) ’

U

w 0,

p' — Pe—z/vHez‘k(a:—ct)’

a = AeDH/H gik(z—ct), (2.4.20)

000, c=+yRTODOO. DDDDDDD(Lambwave)DDDDD*Q.DDD
g, buddbbidw=0000000000000D0000O0O0O0. 000O0OO0O
go,bogdbobooogbobobogobbogob.buogobbooobbod
gbbogbboodo,ggobooobboobboobbuoobboobba
ggboboboooggbbobooooboobooooobn.

25 UOO0OOGOO

gboobobooboobobuoobboobooboobbooboobbo
g.ogdbgobobooboooboboboboob,boobobbobon
gbooobgoobogobogob.

000000000000000,¢ =0000.00,0000000000
0o00o0o0o0O. 0ooo (223)0000000000000O0ODOOOO0O. OO

200000000« =00000000,(24.2000000000000000000. w =0
000 (223)0

ou' 78p/_ _dp a

R R St
70p, _dd ou _ 9d
o TP =0 5 =0

go 4DDDDD7DDDDDDDDDp/DDDDDDDDDDDDDDDDDD

0o g o, o,
0z Ox? c29x2’ ot T Ox?
DQDDDD.QDD,ngq/RTDDDDDD.DDDDDDDDDDDD,DDDDDDDDD
000 H(=RT/¢)0000

p = Pe~#/Hik(z—cst) (2.4.21)

gbooboooobogo.bobgooboobog u/7a/DDDDDDD,DDDp/DDDDDDDDDD
gboogoooog.
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O, 0gouoouoouoououoogd.
ou ou  _Op

E—i_U@_J?_._pa_x =0 (2.5.22&)
ow ow _Op
(5(E+Ua—x> —|—p£ =0 (2.5.22b)
ou Ow
6—96—1—% =0 (2.5.22¢)
Jdododooooooooooogoogno.
op _
A 2.5.2
5, = 79 (2.5.23)

bbbt =0000000000000 HODOO0OOOO,z2=00000
U0 po=gpHUO0OD0O. 00, 0000000000000 0O00O0O0ODOO

u = 7Wb(z)eilc(ac—ct)
w = B(z)eHE= (2.5.24)
p/p = P(z)e™" =

0000 (25.222)0000,00000

(U—=0c)(z)+ P(z) =0
dP(z)

ikO(U = c)B(=) + — = =0 (2.5.25)
ik (2) + d(ziz) ~0

000. 0002000 P(:)0000,000000000000000000
00000 ¢(z)000000,

d*®(z)
dz?

oo0.0boo0,0o000bO0o0obo0é=1000000000ODDOODOOOO
)=0000000000000.00000D0DODO,

— k*6®(2) =0 (2.5.26)

O(2) = are® +ae™™ 5 =1,

(2) =ayz+a, 6=0.

000.000, a,a0,a,a,000000000000000000000. 00
0000000000000000,0000000000.000000000
000000 =100 a=-a=a000,

d(z) =a(e™ —e*) =1 (2.5.27)
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godooboooooonoooouooo,gooooon.
O(z) = 2akz+---

00,00000000000000 (§=0)004,=0000,d,=¢0000
noo,
O(2) = az. (2.5.28)

20000000000, (COO0000D0O0DOOOO00O0)OOoOOOO00O0
ggbboobouoodoob.bo,gbbbodaod

d(p+p)
dt

gbobooobobooobo.boobobuoboboobooooboon, z=HO
ggbooobogogboboob.ood,

=0

Z LU wm =0 at z=H (2.5.29)

0 (25.27)000 (25.28)000000,0000 (2525 000000000.
gooogoaod (5:1)DDDDDDD. dooooogood
®(z) = 2asinh(kz), ¥(z) = 2iacosh(kz), P(z)= —2ia(U — c¢) cosh(kz)

O00.000 (2529000000000,

/2
B gA orH ]
c-U:l:[Qﬂtanh( ; )} (2.5.30)
goo.
0000000 (6=0)0000000. 000000000
: (U —
o) =az vz =, Py =-CZ0
k k
O00. 000 (2529000000000,
c=U=x+/gH (2.5.31)

gao.
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(2531)00000000000000O00O000O0O,000000A0 (shallow
water wave) DO 000000 000O0. 00O (253000000 H/AODOODOOOO

ogod,ooooa
[ g\
c~ U+ g2
27

O00000. 0000000 (deep-water wave) DO OO, 000000O0O0OO
O0o00o0oo0oo. o0 A/ A0000000000, (253000 (2531)000,
bobooobobooobobooobobbobooobo,0bobobOobon
0.00000000000000000000000 gH =py/p=RTO0ODO
00, (2.531)0

¢=U=+VRT (2.5.32)

0000000.0Doo0 (238)00000000DOooDoOoOoOUoOooooOOd
goooo.

(2531) 00 0000000000000, 000000O0O00O0O0O0OOOO
. ggobob,bbbbobbbduoooooobbbobobboo. gg,udad
gogodgogobobbbboboobbboododduooo. bbbooooooad
gogboooooboo,

gp(h—2)=0p (2.5.33)

00000. 000,Rr00000000000.00u=U+4,h=H+h(z,1),
p=p(z)+p(z,2t)000. 0000,00000000000000000

10p on'
0 2.5.34
p Ox ey ( )
0oo.
000, (2522)00 1000
ou oud on
EARN § AL (2.5.35)

gooo.

godd «d hDDDDQDDDDDDDDDD.(2.5.35)DDDD hO 0000
0000,«.000 zx2000000000000000«0000000O0O00003.
g, 0douoooooouon z=00000 w:ODDD.DDDD(2.5.22a)
00300000000 =000 AO00O00O0O00OO0OO0O0OOOOOO0O,

ou

Wy=p — ——h.

ox
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0od
dh  Oh oh

wzzh:E:E—l—u%

ooooo,20000000
0(ph o(puh
(P)_i_ (puh)

=0 2.5.36
ot ox ( )
000.00000000000000,

on' an o

RACRN § EACRY § S (2.5.37)

gao.

Or0«0 200000000000, 00000000000O00000OO
gg.
'Ll,/ :uoeik(zfct), h’:hoeik(xfct)

O00,uwOd hOODODODOO.00000 (25350 (2537 0000,0000
ggbobbooooboboooooobo,gbbboooobbbuoooon.

c=U=x+/gH

oboboooboboboobooboboooboobobobo,b0o0bo0o0o0on
(external gravity wave) 00000 . 00, 00000000000000000O0O
O000000000000000000000,00000 (internal gravity wave)
ubobo. boooboobobobooooboboobobooboobobobon
0000000000000 0. 000 Haltiner and Martin(1957) 00,0000
gbob200d0bboooboaabbootnoobbooobooboooanooad
ooooooobo.ooboobobooo,

! / / ! ! 12
L PUHPU  [gMp—p) pp(U-UY) !
p+p 2m(p+p') (p+p)?

uogd. oo, boo,ggouobobobobuoooooobooo. o
g,0bogobogoboobboobboobuoobbuoobbooboon.
goooood pl:ODDDDDD,DDDDDDDDDDDDDDDDDDD
00000.0000000000,U=00000000000,p=p 000
guobboboooobobouoo. bbb ooobbbuooobbbuoooo
gbogooobog,boboobobb.0obobuooboboobooobon
0000 (Kelvin-Helmholtz wave) D0 OO O .
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2.6 U0O0OOOOOOOOO

gbbogboogbbogbo,bboobuogobbodboobobuooboo
gogodooobob. ooooooooboboboboobbbobobbooooooga
gogo,bbobbougogobboobbouoodo. o, gogoobboobodao
gogoooooobbobobobobbbbooodddgooooo. booogoga
gbbodbooobuoobbooboooboobba,boobbuoobobo
go.

ou 8u ou 8h
ov ov ov 3h
- - 2.6.
o F U +vay+fu4rgay 0 (2.6.38b)

gbobboobobobooobbooo,oogbbooobbooobbo. o
gbbodbooobuoobbooboo,bogbboooboobbodbobo
gogoobodoa. ogg,obobobuogogbbobuoooobbo.bbobodad
gob,bogdgbobobooad.

au+8v+3w
oxr Oy 0z
00 (2536) 00 000000000000, «w0ARO0O0O0000OO

Oh  9(hu)  O(hv)
ot ox dy

000, (2.6.38), (2.6.38b), (2.6.40) 0000 30 (u,v,h) 000 3000000
O000000.0000000000000 (shallow-water equation) D 000 O.
000000000000000 (26.38b)0 2000, (26.38a)0 yOO OO, O
00000000o0o00ooooOoooD. 0o0o (2640)0000000000O,
ggboooboogoaoh,

aC 8( o¢ Ju Ov 1dh

5 Fugs tv %jtﬁv— (f+C)(—+@) (f+O7 = (2.6.41)

O0000.000,00000000D0 fOyOODOOOOOOO,pB=0f/0y0O
gg.boboobooogooobooood,

d (¢+F\ _
- (T) =0 (2.6.42)

000.000000 (¢+f)/hA00000000O0000OODOOOOOOOO
O000.000000000000,00000000 (potential vorticity) 0 O O

=0 (2.6.39)

-0 (2.6.40)
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00. 000000000000000000000000000000000
0,000000000000000 Ertel(1942)00000000. (2.6.42)0,
000000000000000000000000000000000,000
0000000000000, 000000000000000000000a0
0,000000000000.0000,00000000000000000
0000000000000Odd. 00000000 (¢+f)/200000,00
000 (2642)0000000.

(2.6.38a), (2.6.38b), (2.6.40) DO OO,00000
h:H+hl, u:U—l—u/, v="1

00D000000000000000D. 00000000, HO0U0000
000000D000000000. 0000
oH
v=-927 (2.6.43)
[ oy
0000000, 000, HODO0O00D000000000000000, 00
00000000 V00000000 y000000000000000000
000.0000000000000 f0y000000000000,0000
DoooOooooo.

5(3“+U@>—fv+g%:o
ox

ot ox
ov ov
il - — 2.6.44
8t+U8x+fu 0 ( )
@—FU@—FH%-FU@—H:O

ot ox ox oy

000,000000000000000. 00,60000000000 dD/dt
00000000000 (D =0du/dz+dv/dy). 00000000000000
00 zy000000020y00000000000000000.00000
Dv0yO00000000,«00000000000000000000.00,
D00 HOOOOOOOOO0O0,00000000000000000000

u = uoezk(m—ct)7 v = erzk(a:—ct)7 h = hoezk(x—ct)

00000, (2644)000000000000000O0O0ODODOO.

MU — ¢)ikug — fvg + gikho =0 (2.6.45)
fug+ik(U — ¢)vg =0 (2.6.46)
ikHup + 0H /0y vy + ik(U — ¢)hg = 0 (2.6.47)
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oboobobDooobooon w,v,heDODODOOOOOODDODODODO, OO
gobbuooobbuooobbuoodb.buooobobooooboobooa,bbod
ggos3bbuooggoaoobg.

oH
5(U—c)3—(gH+f2/k2)(U—c)—%8—:0 (2.6.48)
y
O00000000000000000000000000000000000
O00.000000000000,U=0,=10000000000

c==++\/gH + f?/k? (2.6.49)

O0c=00000.000000000 (inertial gravity wave) DO 0O, f=000
00 (2649)0000000000000O0O.

goodil1ogoodg2000doongoooonooon,ogdoooogg
0o.
o=kc==f (2.6.50)

0000o0,00000000 (1/kh0bObo0O0o0Ubo,gA0000O0ODOO0ODOO
gobobdo. gg,ogobbooobbbuooobbuooobbuooobboo
ggbobobuoooobobboooobooboobooaa,

du dv
E——fvy a—fu
gd2000,000000000400
d*u
— + ffu=0

dt?

000. 00000000 u=we'000000,000000000000.
00000000 2n/f=12/singhowr 000000000,

gbbodoboobbda,buogbbooboobbodboobbooboo
gob.booobb,obbbooobbuoogbbooobobboobboo
gobbuooboboodobbbda. gobbuoodobb,o0obbuooobboo
ggooboogogoboobod.

main.tex 2011/08/13(00 OO)
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(2648)00000000000000O00,6=0%0000000000.
(f/H) 0H /0y

k24 (f?/gH)
0000,000000000000¢=/f/HOOODODOOO0O0OO0O0O. g0y
oooooo,

— U+

g OH  f2U

9 _ _JoH _JU (2.6.51)

dy H? 0y  gH?
0D0D0000000000D0000, 0000000 H(x)Dy0000D000
000D. 00000, 0000000000000y00000000000.

(2651)00000000000000,

H 0q/0y
k?+ (f?/gH)
000. 000000000 (Rosshy wave)000™000,000000000

gooboooooooboooboooooobboOoo.obooooo, foOO
gobobuooobbogobbooobobobuoo.obbo,0obboobbod

R 0 foH B+ (fU/gH)
q + g
5§:<5_ﬁ5§)”¥: e (2.6.53)
0000.000,8=df/dy000.000,0000000000000kxV§
0000000000000000000. f000000000000O000O0
0, (26.52)0 8g/0y0 (2653)000000000000000.00000,y
000000000000000000000000000O0D,0000000
ooooooooo.

c=U— (2.6.52)

(2644)0 ¢ =0000000000,000000 (2648)000000O0O0O
god.bobuogoobbboodgdorgobbboo.gobo,

oh
fo=g5". (2.6.54)

Bg=00000000O0

ooo.

“0000,0000000000000000000000000000000000000
0. (2652)0000000000,0000000000000O000O00ODOOOOOOOO
bobooooooo. obooo,0b00000000o00o00ob00oobo0obog,bob0oboba
gobooboooooobooooobooooobo,0booooboboboooobooooD.
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0000000000000 0000,00000000000.

gbbdz0y00bbugbbugbbu,bbogboogboogboo
(2.6.382)0 (2.6.38b) 0000000000 0ODOODOOOOOOOOOD. OOO
gob,oggoboboooobbbuoodgbbbuooobbb,o0bbboo
gobobooobb.ogobb,gobbbogobbooobboooboboo
ggboboobogooobo.

gbobobogooobo20b0boooobobob,boobobobo
gogo. budgog,gbbyoooobbbbboooooobo,bbodd
ggbobobooodgbbobod.

-
¢
00000000 (U=00000,000000000. (2.6.45)0 ¢*@-0Q
oooooooo,

ou/0x
ov/0x

(2.6.55)

if
= —= 2.6.
v ol (2.6.56)
0000 ¢0000000000000 (264900000, (2.6.55) 0
D
‘— = 1+ k2gH[f2 (2.6.57)
Clie

ggb.goobbbi1obogg. bog,gbbbbuooooobobodad
gooboooga.

O00000000o0ooo0O0O (=0)0000,000000 A000000O
00000, (2654) 0000000000000,
v kg

00, (2644) 00«0 AO00O00O0O0OODODOODOOOOOO.

S 2 U

“j=—0000000000000D000DOO,

g 0
"2 907

u =

hU — Hu)

O000.00000,0000000000 (WU-HwOOOOOOOOOOOO.
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gobbuoodgbboodobboodobbbuooo.bbud«0b0040ob,d

goooooooooo
ou 1kUg

dx — gH + (f2/k?)
gono. (2.6.58)D (2.6.60) 0 (2.6.55)DDDDDDDD,DDDDDDDDDDD
(Uk/f)

‘ J—

0000000000000 DD0OD0O (Rossby number) D000, 0000000
gobodbolbboobdud. obbo1i1obbobobuoo,oobbobbon
googoobobobboboboobbb. obbobbobobobobbbbooooogd
goboogag.

h (2.6.60)

(2.6.61)
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27 gUooooond

ooooooo,b0o00000000000O0O0O000ODOObO0OO0DODDO.

ooo0oz2000000000000D0. OOOODOOOOODOOOODOO
O,(H=10km0O0000)0 300 m/sO000000CCCO. ODOOODODODODOOO
oooooooo0OO0O,0 10m/sODO000. OO0O0DO0DO0DO0D0O0O0O0O00O00, 0
ooooooo0oooooooO.ooooOo,0o0ooooooO0Ob0bobob0oo
0000000000000 0DO0D0ooDoDO. DOo0O0O0 (=1n)0OD0oooo
ooooO,000000000D0O0000000000O000O0O0O00O00000
goooo.0000ooO,0000000ogoooooooooooobooboood
000000000000 (Hinkelmann,1951; Phillips, 1960). OO OO, 000
0000 (20)00000000 (10)0bO0OoOO0OOOOOOOODOODOODOO
3000000000000000O0ODOODOO. 00000000000000
¢j(j=1,2,3)000. 00000 00000,0000 (u,v;) 0000000
O(,)000000000000000O0O00. 000000, (26440000
O000o0o000,3000 u,v;,h; 0001000 ,;000000000.000
uw=U-¢000,6=1000 (2644)002000000000000000
oo0.00o0o,

uj =U —¢;

v =1if/k (2.7.62)

hj =g [f2/K = (U = ¢;)?]

ooo.000000000kO00O0O0DDDOO,

3

— 2y ptk(z—c;t)
u= g a;juje

j=1
3
v = Z ajv et@=et) (2.7.63)

J=1

3
h:Zajhjeik(xijt)
7j=1
googodgo.odb,q;00o0o0aogn.

v,o, hOOODOODOOOOOODOO0OO0O0ObOOOobOoooo.
u(z,0) = ug €™, v(z,0) = vy ™, h(x,0) = hy e**

000, u,v,hy D0 O0O0O0O0O0O. D0O00ODODOOO (2763) 000000,

Uy = E a;uj, Vo = E a;Vj, hOI E a]-hj
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ggbo.oo,g0bbbuooogbobobogd.

U
L+ (gHE?/f?)
gH + (f?/k?)
gH + (f?/k?)

(2.7.62)0 (2.7.64)00000000,(27) 0000000000 ¢ 000000,

Cle

(2.7.64)

. ik’f_l gH’UO — gho
ay = U2 fik—4a2 — o

2.7.65
(ug/20/?) ifk (L £ Ua""?)vg + gho ( )
a = U [0
23 = Flto i 2(U f2k—2a71/2 + )
000,a=gH+ f?k2000.
0oo0ooo0000Ooooooo.
g oh g oh
= ——— = ’U —_— ——
foy 7 fox
0oooo0o000oO0ooooooa,
up =0, wvo=ikf ‘ghg (2.7.66)
000.0000000 (2765 000000,0, ;000000000
k? f2ghg
ap =
1 — U2f4k740[73
2.7.67
Ua=32ghy ( )
a =
237 9(1 £ U f2k—2a73/2)
000.000000000000,0000000000
o> k> U (2.7.68)

0000000000000 (ne =ifkta)000000000,0000
0.wOOOO0000O0O00000000™. 00000,00000000000

00000000 00000 (a0;) 0 ve000000,

v1a1

_ (1 o U2f4]€_4()é_3)_1
vo

00000000000 (27.68) 0000000, U2fk 43« 1000.000,

viax ~14 U2f4k74a73

Vo

gboogbogbooboobooboooboo,»pobogboobodl vy 00oonoog
auo.
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DDDDDDDDDDDDDDD.DDDD(2.7.66)DDDDDDDDDDDDD
good. oooooooooooooooooon,
a2y _ U _f° (2.7.69)
ay  +/gHk*gH' o
DDDD,DDDDDDDDDDDDD(2.7.68)DDDDDDDDDDD.DDD,
gobooooooooobooobooooboo.

Uddyw 0OOOO00ooooo, bbb boooguouooobbbbooa.
(2765)0000 a3 =000, 0000000000000000,00 w0O

goooooooo.
Ughg

"= G T PR
000 (2768)00,00000 00000000 -U?f%*a?00000. 0
DDDDDDDDDDDDDDDDDDDu:uoeikxD,DDDDDDD(2.6.60)
ogoooooad.

(2.7.70)

28 0O0O0OOO

gbob20000001000000b00b00DbO,00000D00O000O0ODOO
gogobob. oobob,bbouoooobb,bbbouoooobboobobodad
000000000000000™. 000,0000000000000000
gbbodbooobogbboobo,bbogboooboobbuooboo
gboogbooobo,oobbooboboobgoobooboo.gobgoobo,n
gbbooobuodgbogbboouoobogboobobobboobo.obbo
gbooboobob,boboboboobooboboboboboboboonoon
go.

"(26.44)00000000,200000000000000000000 u/DDDD,yD
00000000000+ 00000000.000«,y 00000000,00000000
gobooboooo.0oboooobobooboobo,obobooooob0obooooona
oboobooooboobob. 0boboboooobobo,0b0o0ooob0obooobooono
000000000.000,000000000(@O0O00O,0000)00 23000000
ooooooo.
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0000000000000000000000000000000000.
A (2.8.71)

oooooooo, (2644) 00000 =0000000000000C0. 00O
00000,0000300000000.000,20000000 (264900
0000 (2652)000. 000000000 HOODOODOO 9q/oy=0000
gob,bgggooboooon.

00000 Rossby(1938) 00000000000 0,000000000 Cahn(1945)
O00000000. 00000000, Schoenstadt(1977) 0000000000
O000000000000.000,2:20000000000 u(x,t)020000
goooobn .

ﬂ(k,t):/ u(z, t)e *dxy (2.8.72)

o0

goooo.oooo,
u(z,t) = / a(k,t)e™ dk (2.8.73)

o0

oooooooob.oobobowe,AO000D00DODOOOOOODODO.

0000000000000000, (28.7) 0000000 ¢ %0000, x
U000 —ccUOocoOOOOODODOOOODODO. :00000000O0DOO0O
gobobooo,boobbbogbobobooobbooobboo.obboo
0000,000000000000°78

% = fo — ikgh
%:—m (2.8.74)
%?=~4kﬂa
O0,«000000000000
q%:Mhm:/mmLmamm (2.8.75)

*¥000000000000000000,0000000000000000000. 00
00,00 dua(k,t)/0t 0000000 da/dt0000000.
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000000000.00,000000000000 9,h000000000
gooo.

0000 d@,0,h0000000000000000 (2874000000
0oo,

14

~ ]{: il
u(k,t) = g cosvt + <M> sin vt

k2gH?bo + ikgfh i 200 — ikgfh
ik, t) = 9 I“J;ng 0——f50$nyt+-<f1b V;gf 0>(Dsut (2.8.76)
B 2 7 o ~ . ~ 2 7 . ~
th:ij fHﬂ@_MH%$m¢+(kywijH%)mm¢
1% 1% 1%
0oO0. 000,

v=/f*+k?*gH (2.8.77)
O000. 0000000 0,0000000000000D0(oOooooDoooOd

000000)00000000. 0000000000000 =0000000
0000,000000000 ¢ =0, cp3==4r/k000.

000000000000,00000000000 (), 0000000 ()70
D0D00D0000O00DOO0.
(k) =0
. ikg [ f2ho — ik fHuo
Us(k) = 7 2

ﬁ4k>::(j?ﬁo—ikfﬂﬁo>

(2.8.78)

2

oo
up(k,t) = 1 cos vt + i({)o — if_lkgﬁo) sin vt
v

2

ﬁT(k,t):—gﬁo—l—%(f)o—if_lkgﬁo)cosut (2.8.79)
Zﬁfff(@oaflkgﬁo)

goo. DDD(2.8.78)D,178:i/{:gf71h5,ﬂ5:ODDDDDDDDDDDDDDD

goooon. DDDDD,(2.8.74)DDDD d/dtDDDDDDDDDDDDDDD

00000.00,00000 (28.79)0,00000000000 ((0—ikgfho)

oo fLO)DDDDDDDDD.

“Y0000000000:0000 (2874)000000000.

~ kH
hT(k, t) = —ZT{LO sin vt +
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gbboggboobbuodboobobuoobbo,bodboobbuooboo
gogbo.gbobo,ggbobbbooodobobuooooooboobog. gd
ggbbobuooobbbog,obboooobbboooobobod

1 [ ~
up(x,t) = py / iig cos vt e dk + — / f d(k,0) sin vt e**dk
vr / “sinvt e*rdk + — / —d k,0) cos vt e**dk
' k‘H~ , ' kH
hr(x,t) = —L % sinvt e*dk + — / fd(k: 0) cos vt e**dk
2 J_ Vv 21 J_o V2
(2.8.80)
noo,
Oh
A1) = ol 1) = 50, 1)

000,00000000000. Schoenstadt(1977)00, 0000 (2.8.80)000
0000000000000 00000000. 20000, || > Lrft=+gHt
00000,00000000000000000007™°,

[[a(z/a, 0)| cos(ft + @)+ |d(x/a,0)] sin(ft + )]

1
V21
1 5 . 5
v ~ m[ﬂu(m/a, 0)| sin(ft+ @)+ |d(z/a,0)| cos(ft+ )] (2.8.81)

1 (—Hx)
Vora  fa

000,v0¢000000000000000.00,Ly=+gH/f00000O
00000000,a=L%ft000.

hr ~

[[a(a/a,0)| sin(ft + @) —[d(z/a,0)] cos(ft + )]

00000 (2881)00,0000000 up,vp 000000 20000 ¢71/2
00000000, A 0¢32000000000000000.0000000
gb,gbbuogbbodboobobuoobboobooobuoobboobobo
O0,0000000000000.0000,000D00DO0ODO0DODO GOOO

go.

g=Ov__ kel 91 (2.8.82)

N e T N
000,2rL =2r/k000000. OOCOODO,000000000 LgODOO
00000000000000,00000000000 c¢c=+gHOOOOODO
go,bogdgoboboogobobuogobbooobbooobb.oooboboa
gbbodbbodgbgobbuoobboobobodobo,bboobbodgbobo
0.00(2881)00,00000 0000000000000 O0OOOOOO

0goooooooo (2880)00000000,00000.
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gbbuoguooboa,bbgobbodbbodbbode-ggbbogbbo
gogboo,gobbbodggooobogd.

000000, [A4/1*0000000. 00000, (28.78) 00000000
gogbobobodood.

R L\ inpgh
Us— ]_—f—(L%%/LQ) LQUO [/ g 0

. 1 L% foy -
b= s (2 o)

(2.8.83)

00000000000,00000000000000000000. 000,
S0 ikflgh 000000000 D000000D0O0000. 00 L2< L300
000000. 0000, (2.8.83)0

; AL

Vs = 60) s — Zkg (2884)

gogoogoobbbbbbobb. oobobbbbbbbbbbboooduaogo
gb,g0bogbbodbooobuoobbogboooboobbuooboo
gogbbooogoabn.

00,L%> 30000 (2.8.83)0
Uy = ikf " ghy, hs = hg (2.8.85)

goooogd. boobbbo,bbbobbbbbbbbbboo0ooooooo
gboggboodobbo. oobboobbuoobobooobboobb. oo
gboooodb Lpooboobobuooboboo,oboobuobboobon
goboboobgobo. oo, Lggbobobooboboboo,obobon
gbboogobuodgbobuodgbog. bboobuoobbobobooboobbo
gbogboobooboobo,2b000b0o0bgooboobo.oobon
00000000, Lg=c¢/flc,00000000000)000000000O
O000000.00000,0kland(1970)000000000000ODOO0OOO
gobbobuoodgbboboooobobuooobon.

oboobobobobogoog, H~ 10 km, Lg = 3000 km, 2Lz = 18000 km
gbobobobobob.obobo,ob 000 kmdobooboooooon
b 2rLp00000000000.OD0D0O0OD,0000D000b0O0DbO0
0000 ¢ ~100ms 0000000, Lg~1000kmO000. 0000 27Lg ~
6000 km OO0, 0000000000 0OO0ODOODOOOOOOODO.ODOO,Od
O00b0o0obO0o0oo0o0obO0obooooOoOoboOobOoooooooob. fODO
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gggobobboo,bbbobbbbotbduooooooobbbbboodaoaad.
gbog,ggboobdobobobbobboboboobbobboobooboa.

gobobooooobobbboooouobbbooooobbbouooooo
0.0000,
hy(x) = h(z,0) — hp(z,0)

0000000000000000000, hp(z,0000 (2.879)00000,

1 [* Hfik - |
ha(w) = hiz,0) - o SOk 3 eits g (2.8.86)

2
o V

ooo0.o0oo,dubbo0obogoooooboobooboo. oo, 00ooobooon
gogobgobogobobgob.
1 [ - o /

F(k) G(k) ¢ dk = / Fla) Gz — 1) da’ (2.8.87)

27T —00 —00

000, 7 G0 FGOOD0000D00. 00, e R/ "0p000ooonn
gud ,
0 . 2L 2Upf
—|z|/L —ikx _ R _ R
/_ooe e =T e T e

000. 000, G) = e l@/lr F(z) = dd(z,0)/0: OOO™, 00000
(2887)000000, (2.8.86) 0

H [~ __ o, dd,0) .
_ N ja—a'|/L )
hs(x) = h(z,0) T /_Ooe o dx (2.8.88)

O000. 0000000000000, 0000000000000 hy(x)DDODO
gogoooo.

’
r—T

H > 4 ~ ’
hy(z) = h(z,0 “le=z /LR gy 0) d 2.8.89
@) =0+ g [ e @0y d (2889
O000D0,000002000000000000000000000 LzOO
000D0000000000000. 00000000, (28.89)0000000
oooo.oooo,

ve(7) = fg 'Ohs/0x, us=0 (2.8.90)

gbobog20o0bda,bbggbbugbbuoobbuooboboooboo
gobbuoodo.bbuoggbboodgbb,gobbuooobbuooobobod
ggoobob.bbodgod,bbobbuooogbobobuoooobobobobag. g

Mooo0 G(k) =2Lgf2/v?, F(k)=ikd(k) DO O.
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goboo,gbobbboooobbbuodgbbbuooobbb,o0bbbod
gogobobboogooboboog,gbbobboogooobob. 2b0dd
gbbod,ugubbodbooobuoobbogboooboobboobobo
gogo,bbobbugogoobobbuooobob. oooob,bbobogad
gbbodbooobuogobbooboooboobboobo,bbuodobbo
gogobooobbood. bo,bogoooobobobbooooobo,bobobodad
000000000.000000000000000000000, L?/L4200
O0000000.000,Lg=¢,/f000,¢000000000000000
gobogobgo.boboobodo LoO LpyOoobooboob,0obuoobon
goboooboboooboobboobob. oo Lo Lg0oobboon
g,buogdgbobboogobbuoodgbbuooobb.ooobbuooobboo
gobboogobbog,bbogobbuoggbbooobooooooboog.
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O0:0000 (2.8.74)0000000

300000000000 s=(sy,8,5) = (4,8,h) 000000000, 00
00 (2874000 GOOOO

ds
Z_q 2.8.91
o s ( )
oopooooooooo. ooa,
0 f —ikg
G=| —f 0 0 (2.8.92)
—ikH 0 0

goo.

00GO000000000000000000.00GO00000 A,
00,00000000000000 py,p.,ps000. 0000DODOOODODOO
000000000,00GOO00P=[pp.ps) 0000000000000
oooo™2.

P7'GP = diag(\;, A2, A3) (2.8.93)

ooo0ob0GooOOobooboobooboobooobooboUobooboO,b0 GO 30
gobooooooooboboobo.oooboboo, 00 uuoooboooboooDo
ooo0o0O.00GohOobooooobooooo,ogo PO

0 1 1
pP= 1 iffv —if/v (2.8.94)
—if/(kg) —kH/v kH/v

000000.00,00G00000000
P7'GP = diag(0, iv, —iv) (2.8.95)

goo.

O00,0000000000 pPOODOO
s = Ps*

0000000000, (289)0000000 P'O0O0DOOO,000000

gooogogno
ds*

dt
“2Ng POO0ODOCODOOOOOOOOOODOODOO, 0000000,

— PGP s* (2.8.96)
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oo00. (2895000000,

*

dt

= diag(0, iv, —iv) s* (2.8.97)
D00.00 s*=(s%,s,s)00000000000000000,
si=0C), s5=0Cye", s5=Cze™ (2.8.98)

ooo,G,C,Cs000o0oooooog. obbo s*0 POOD0OODOODO
00,00000 (289)000ooOOoOOO.

0 1 1
s =0 1 + Coe™ | ifJv | + Cae™™ | —if v (2.8.99)
—if/(kg) —kH/v kH /v

00000000 (2876)0000000, (2899 00000000000
C,,C,,Cs0000 s0000 (up,v0,he) J0000000.0000000,t=0
0000 (28990 C,,C,,C;000000000. 00,0000000000
000000000000 000000000O00O.

O0: 000000000 (2.8.80)0000000O
0ooooooo

00000™00,00000000000000000000.

ﬂw:/ (k) i (2.8.100)
DDD,Q(k,t)DDDDDDDDDD /{:DDDDDDDDDDDDDD,Q(/{:)DD
0000 k0000000000000 000000. 0000000 %0 k0O
0000000000000 000O000D, gk O EKOODDOOODODOOODODO
gooooooo,guodoooooooouodoo. oo, guodgo
00000000 f)00000000D0D0D0D000000O0ODO0OODO. ODoOOo
DDDDDDDDDDDDDDDDD,@@/@]@‘:ODDDDDDDDDDDDDD

‘Bopogooo0o0D000000000, 0000000000000 000000000
(http://www.ep.sci.hokudai.ac.jp/ yamasita/phys-math-approx.pdf) 0000000000,
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000. 00000000 k=k00,00000000 0000, f()000
oooooooo.
ks+e A
f(t) = / g(k)e "M dk (2.8.101)
ks—e

0t k)OO k=k,00000000000,20000000000

1 0%

0(k) ~ 0(ks) + 2982 (k — ky)?

k=ks

000 (28101)00000. 000000000000 O000O0O000OO0,
0000000000000 ¢k)0 gk,)00000, k00000000000
oooooo,

ks+e .
N i0(1.k) i0%
f(t) = g(ks) € / 2 Ok2

ks—e

exp { (k — ks)Q} dk (2.8.102)

k=ks

O00.000,k=k000009/0k=0000000000.

00 g(k) = A(k)/2m, 0(k,t) = kzr+1vt000,200000000¢t— 0000
00 f#)00000000000000000000000000.0000,0
000000 (28102)0000,t—occ0000

1 : hote t 0%
~ _— A i(ksx+v(ks)t) / LY
f(t) 27T (ks) € X eXp 22 8k2

(k — ks)ﬂ dk  (2.8.103)

s—¢& k=ks

D000000000.000,0000600000 »0
v = f\/1+ L3k?

0000000.000,Lg=(¢gH)Y?/f0000000000000.

Oo0o0vDO EODOO100002000000000,

v FL2E 0% FL2

ok Or T e T U+ LR

0000,0=080/0k=x+ (Ov/0k)t0000 kOODOOOO0OOOO00. O¢00
0oooo0o000O0o0ooo,

[L’/LR

ks = _(L%thQ — 22)1/2

(2.8.104)

oo0.000,000k=k000000

@ _ [f2L2Rt2 _ $2]3/2 =0
Ok?|,_,. F2Lyt?
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O00.000(28103) 0000000,

p= - r {1 P

000000000000000. 0000000000 p0O0O0O000,t— o0
00000 —cc00occDdO00. 0000 (2.8.103) 0,
A ks ei(ksx+zx(ks)t) oo . o
ft) ~V2 (k) 12 / exp {sz sgn (@U{:S))} dp (2.8.105)
(t1551]) o
O0D.000,sgn(A)0 ADDDODOOOO 1,000 -1000.000000
0000 Fresnel 00O 0OO0O0O ™,

A(k,) eilksatviks)t) T 0
ft) ~Vor ( (t) = ‘)1/2 exp [ZZ sgn (w(k‘s))} (2.8.106)
k2

O00. 000000000 kD000 Ak,) 0000, 00 k=%k, 0000
Ov/ok*00000,00000000000000.

12 f2t2 1/2 (L2 f2t2 _2\1/2
f“):fV§;<JL%f?§-xﬂw2> /Kkgexpz[( R 7 ) 4—%} (2.8.107)

2v/ok*000000000, /40 —x/4000000000000

000000000 (2.8.80)0000

7| < Lpft(=+/gHt)0OOOOO0O0 20000, ¢t — 0000 (2.8.80) 000
00000000000000000000000. 0000000

1 [~ .
I(z,t) = / A(k) cos vt e*dk,

pr

—0o0

1 [~ .
J(x,t) = %/ A(k) sin vt e*dk

O0000000. 0000Ak)OODODOODODOOOOODOODOOOODODOOO
ggbb.buoggobobboooob,bugl1gobbooboooobobod.

I(z,t) = ! 1{/P AMﬁew““dk+l/ ,Mk)a%@wk} (2.8.108)

or 2 ) .
“UFresnel 1 000000000000 000000.,

oo o0 1
/ cosz2dx = / sin z2dz = \/?
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00000000000000000. 000, 615k =ker+vt0000.00,
000000000 v=f(1+Lek)Y200000.

(28.107) 000000000, 0000000¢,0000000000. 00
0000060000000000000000000000000000. O
00000, 060,/0k=00000 k(=ky,) 00000, kyy = —kp, 000000
000,00v000000000000000000000000.

0 0
el(kls) = _02(k25)7 01{:2 (kls) -

0 lz|< Lgft00000000O0O, (28.104)000

273 (kas) >0

kls = _kQS = —ZL'/OZ, V(kls) = V(kQS) = f (28109)

000000.000,a=L%ft0000.

00, (281070, 6, =k +1vt0000

£(t) = \/f A(kyy) expi [ft + 2 sen <§Z’2(k ))] (2.8.110)

0=k —t0000),

27 T 0
f(t) ~ - — A(kss) expi [ ft—— 7 Sen (ak;z(k ))} (2.8.111)
O00000.00000000o0oo0, I(z,t)0
1 . A
I(z,t) ~ A(ky) e L Ay, )e (/4] 2.8.112
(@.0) = 5= { Al )e () e} (28112

gogbooboooooo.

D000,0A(K)DD0D00000000000000,0000 A(—k) = A*(k)
0000000000.000,000+«00000000.000, (2.8.112)0,

[(2,1) ~ {Re[A(kQS)] cos( ft+%) + Im[A(ksy)] sin(ft + %)} (2.8.113)
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J(x,) ~ \/;_a {Re[A(kzs)] sin( ft+%) — Tm[A(ksy)] cos( ft+%)} (2.8.114)
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16300 000000000000000000. a0000000000000000, (2.8.80)
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